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General Instructions :

(i) All questions in both the sections are compulsory.

(it) Marks for questions are indicated against each.

(111) Questions No. 1 -5 and 17 -21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

(iv) Questions No. 6-10 and 22-26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each. -

(v)  Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
g e A

Give the meaning of opportunity cost.
TR A B S TR |

What is meant by inferior good in economics ?

s § wfear avq & w1 @ 2

Define marginal cost.

dm arg & gRymer S |

Give one reason for a rightward shift in supply curve.

IS a% & T IR foudd & TE FRO TR |

Why is average total cost greater than average variable cost ?

stgq o o, Sitgd gRadl @i ¥ s @ a8 2

State the law of demand and show it with the help of a schedule.

qim & faw saEe R TE afds & WeEdr 9 39 fTEnu |

Explain the geometric method of measuring price elasticity of

demand.

HhT S HEG dg & 999 S ST &9y geeeEe |

Why do problems related to allocation of resources in an economy
arise ? Explain.
. OR
Explain the problem of ‘for whom to produce’.
ydergeer § HUEAl & 3EeT ¥ gEiud gHeEd =& I9d Bidl 8 7 9EEREU |
Agdr
Tas fau 3acT U 3 ga=r gEIRy |
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9. Complete the following table :

Output Total Revenue | Marginal Revenue | Average Revenue

(Units) (Rs.) (Rs.) (Rs.)
1 Serils es 8
- o bt 4 s

. 3° 12 s B 4
4 8 I 2
frafafaa aifes & QU Fife

(Fehrsam) (®.) (F.) (®.)
1 250 S 8
2 . 4 R
3 12 - 4
4 8 L 2

10. Explain the effect of fall in prices of other goods on the supply of a
given good.
TE & g I H YT W A g F FEAl § FU F UNEG IR HiQ |

11. Explain two points of distinction between monopoly and monopolistic
competition. s

OR

Explain any two main features of perfect competition.

THYER 3R THirEREE s § 9% & @ fag guemn |

gan
i sfeafar & 5l & e fanivanst # emen #ifey |
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12. The price elasticity of supply of commodity Y is half the price elasticity
of supply of commodity X. 16 percent rise in the price X results in a
40 percent rise in its supply. If the price of Y falls by 8 percent,
calculate the percentage fall in its supply. 4
Y a5 & ofit A FHa o, X g% # UG S dmd ag § o @ | X Fa
¥ 16 wfve gfg ¥ 3ue 9T & 40 vfave gfg &t 8 | AR Y & Fima 8 vfavm
9, @ WS Ufd H T ol wfovd wH # wReed e |

13. Given below is a cost and revenue schedule of a producer. At what
level of output is the producer in equilibrium ? Give reasons for your

answer. 4
~ Output Price Total Cost

(Units) (Rs.) (Rs.)
1 10 13
2 10 22
3 10 30
4 10 38
5 10 47
6 10 57 ..
7 10 71

TS IARF H GG T WG SEE Y @ R 2 | 9% IS IR & R 'R
W Uqer o fafg § g 2 o9 W F A sror S

~

e Fma Fd A
(3h130) (8.) (3.)

1 10 13

2 10 22

3 10 30

4 10 38

5 10 47

6 10 57

7 10 71
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14.

15.

With the help of a demand and supply schedule, explain the meaning
of excess demand and its effect on price of a commodity.

OR

Define equilibrium price of a commodity. How is it determined ?
Explain with the help of a schedule.

TE W SR YA SR S wermar ¥ Ai enfusg % atd ok TS awg @ w
W NHE H R HIGC |

HYdr

I & oA dmd & uRa AT | aE 5F fuifa @ @ 2 ' g W
e ¥ §HARY |

Giving reasons, state whether the following statements are true or
false :

i) Average cost falls only when marginal cost falls.

16.
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(ii) The difference between average total cost and average variable
cost is constant.

(iii)) When total revenue is maximum, marginal revenue is also
maximum.

N 34 gL FaRT & Frfafad 97 @8 § 1 7o -

(i)  3iEd and Had G A & $eq W T 2 |

(i) 39 Fa aFa SR sifeq uRadl @ra & R feR T 2 |
(i) & Fo Wi Afrad gt 8, @ GHa S9fa o ifway e F |

Explain the effect of the following on the mérket demand of a
commodity :

(1) Change in price of related goods

(ii) Change in the number of its buyers :
T o K OSSR AT W fpEfaiad & yvE @ s #ie
() wfud g&gell # Fmd § 9

(i) 39 sharell & gE § Qﬁaﬁ‘—!
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24.

25.

26.
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0 90

100 0-6 sty e
200 0-6 = e .
300 0-6 1 ——-

Give the meaning of factor income to abroad and factor income from
abroad. Also give an example of each.

OR

Distinguish between domestic product and national product. When can
domestic product be more than national product ?

ﬁﬁﬁ@mm_ﬁﬁﬁﬁmm%wwlmwmw
4t dfST |

Jgar

T 3R IR THE 3@ F 9 HE | T SO TP I|R § e Fa

g gEar 2 ?

Distinguish between balance on trade account and balance on current
account. .

MR T & 9 3 =] T F A9 F 9T HFE |

State three main functions of a commercial bank. Explain any one of
them.

afteg 9% & o9 &7 F@ JaRC | T 9 5 U & e SR |

Give the meaning of revenue deficit, fiscal deficit and primary deficit.

T g2, TSN " 3R wafis w9 % 3 gdRu |
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27.

28.

29.

30.

31.
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Describe the evolution of money.
OR

Explain any two functions of money.

TS & ITM F AU &I |
HIAT
TS % fEE A A S AR HiSe |

Explain any two objectives of a government budget.

TEN T & el o =Y I A FY |

Explain two merits each- of flexible foreign exchange rate and fixed
foreign exchange rate.

T (o) fadelt faft @ ek fer fadeht fafm W F I N N smEwm
T | :

While estimating national income, how will you treat the following ?
Give reasons for your answer.

(1) Imputed rent of self occupied houses.

(ii) Interest received on debentures.

(iii)) Financial help received by flood victims.

P AT F S A 99, frEfaiEd & 9Y 997 g &1 7 3 S| &

fere @ror st |
(i) & AdH § @ ael & 9HH & SRIG (SAEG) |

(i) TG W W S5 |
(iii) are-vifedl & I 3nfE% HerEar |

In an economy S = — 50 + 0-5 Y is the saving function
(where S = saving and Y = national income) and investment
expenditure is 7000. Calculate :

(i) Equilibrium level of national income.

(ii)  Consumption expenditure at equilibrium level of national income.
OR

9 P.T:0.
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From the following information about an economy, calculate (i) its
equilibrium level of national income, and (ii) savings at equilibrium
level of national income.

Consumption function : C = 200 + 0-9 Y
(where C = consumption expenditure and Y = national income)

Investment expenditure : I = 3000.
T e ¥ w9 Bod S =- 50 + 0-5 Y 2 (Sl S = s9a 3K Y = WA
o) o fAaw =@ 7000 7 | 39 frefafed @ e i
(1)  UFE HF & HdeH &R |
(i) TP 3@ F Fgod WX W ITEN T |
FAear
S sdemar & R ¥ § W fefafad gEA W () 39S UEE o % Uged
TR, R (i) TFT I & e TR | I94, F IRGH HEC |
I He 0 C = 200 + 09 Y
(& C = 39901 =9 a1 Y = T 379)
faw == ;1 = 3000.

From the following data, calculate “national income” by (a) income
method and (b) expenditure method :

(Rs. in crores)

(1) Interest 150
(ii) = Rent 250
(iii) Government final consumption expenditure 600
(iv)  Private final consumption expenditure 1200
(v) Profits 640
(vi) Compensation of employees 1000
(vii) Net factor income to abroad 30
(viii) Net indirect taxes . 60
(ix) Net exports (=) 40
(x)  Consumption of fixed capital 50
(xi) Net domestic capital formation 340
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frfefaa
AT :

1)
(ii)
(iii)
(iv)
(v)

(vi)

(vii) faR9l & fHaa IR 3™

=T
e

T A< I =
it sifam I =
Ik
FHaEl &1 TRefhE

(vili) fAaer oe=er =X

(ix)
(x)
(x1)

e frafa
e ISt &1 I
e e st famior

11

AFsl ¥ (F) 39 fafy ok (@) =97 fafy g0 ‘TP E” & wRee

(&, Fsl )

150
250
600
1200
640
1000
30
60
(-) 40
50
340

53,500



